# KANSAS CORPORATION COMMISSION DRIGINAL OIL & GAS CONSERVATION DIVISION

September 1999 Form Must Be Typed

#### **WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE**

Operator: License #	API No. 15 - 095-00111-00-01
Name: Lario Oil & Gas Company	County: Kingman
Address: 301 S. Market	NWNW_ Sec. 34 Twp. 27 S. R. 5 East  West
City/State/Zip: Wichita, KS 67202	330 feet from S (N)(circle one) Line of Section
Purchaser:	330 feet from E /(W) (circle one) Line of Section
Operator Contact Person:Jay G. Schweikert	Footages Calculated from Nearest Outside Section Corner:
Phone: (316 ) 265-5611	
Contractor: Name: Southwind Drilling, Inc.	(circle one) NE SE (NW) SW  Lease Name: Young G Well #: 2-34 RE
20250	From Married Courts
Liconse.	Field Name:
Wellsite Geologist: Vern Schrag	Producing Formation: 1458' 1467'
Designate Type of Completion:	Elevation: Ground: Kelly Busning:
New Well Re-Entry Workover	Total Depth: 4120' Plug Back Total Depth: 3928'
OilSWDSIOWTemp. Abd.	Amount of Surface Pipe Set and Cemented at 264' already set Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth set Feet
Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator: Natural Gas & Oil Company	feet depth tow/sx cmt.
Well Name: Kroeker #1	ALL 1 - Dlg - 8/3/0
Original Comp. Date: 2-3-60 Original Total Depth: 3802'	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Chloride content 80,000 ppm Fluid volume 600 bbls
Plug BackPlug Back Total Depth	Dewatering method used evaporation
Commingled Docket No	
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name:
·	Lease Name: License No.:
8-10-08 8-12-08 9-17-08  Spud Date or Date Reached TD Completion Date or	Quarter Sec TwpS. R
Recompletion Date  Recompletion Date  Recompletion Date	County: Docket No.:
Kansas 67202, within 120 days of the spud date, recompletion, workov Information of side two of this form will be held confidential for a period of 107 for confidentiality in excess of 12 months). One copy of all wireline logs TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells	th the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, the conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 12 months if requested in writing and submitted with the form (see rule 82-3-12 and geologist well report shall be attached with this form. ALL CEMENTING is. Submit CP-111 form with all temporarily abandoned wells.  Attended to the converse of the conver
Title: Jay G. Schweikert, Operations Engineer Date: 12-12-08  Subscribed and sworn to before me this	Letter of Confidentiality Received  If Denied, Yes Date
20_08	Wireline Log Received
Notary Public: KATHY L. FORD Talky L	Wireline Log Received  Geologist Report Received  UIC Distribution
Date Commission Expires 0-22-10	——————————————————————————————————————
	1 5 2008
	PEC 1 5 2008  RECEIVED

Operator Name:	Lano Oil & C	sas Company	Lease	Name:_	Young G		Well #:	+ KE	
Sec Twp	S. R. 5	_ ☐ East	County	Kingm	an				
tested, time tool ope temperature, fluid re	en and closed, flowirecovery, and flow rate	and base of formations og and shut-in pressures es if gas to surface test, final geological well site	, whether sh along with fi	ut-in pre	essure reached	static level, hydr	ostatic prėssui	es, bottom hol	e
Drill Stem Tests Take	_	☐ Yes   ✓ No		<b></b> ✓L	og Format	ion (Top), Depth	and Datum	Samp	le
Samples Sent to Ge	,	✓ Yes  No		Nam Heet			Top 2700	Datur -1233	
Cores Taken	,	\ ☐ Yes ✔ No		Lans			2960	-1493	
Electric Log Run		V ✓ Yes □ No		Stark	Shale		3354	-1887	
(Submit Copy)				Hush	puckney		3389	-1922	
List All E. Logs Run:				вкс			3430	-1963	
ISAT/ACRT/S	SDL/DSN			Paw	nee		3554	-2087	
				Miss	issippian		3756	-2289	
		CASING	G RECORD	✓ Ne	ew Used		<del></del>		-
	Size Hele	Report all strings set				- ·	# Pooks	Time and Dr	
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weig Lbs. /		Setting Depth	Type of Cement	# Sacks Used	Type and Pe Additive	
Production	7 7/8"	5 1/2*	15.5#		3969'	AA-2	130	10# salt, .8% F	LA-322,
								.75% GB, .2	% DF
		ADDITIONA	L CEMENTIN	IG / SQI	JEEZE RECORI	ס			
Purpose:         Depth Top Bottom         Type of Cement           — Perforate         — Protect Casing           — Plug Back TD         — Plug Off Zone				#Sacks Used Type and Percent Additives					
						<del> </del>	<del></del>	·	
Shots Per Foot		ION RECORD - Bridge Plu Footage of Each Interval Po	· .		Acid, Fracture, Shot, Cement Squeeze Record (Amount and Kind of Material Used)				
6	3763'-73'			·	280 bbls XL-3	300 gel, 235,000	scf N2, 19,80	0# sand   3763	'-73'
		·							
							<del> </del>		*
TUBING RECORD	Size	Set At	Packer A	t	Liner Run	Yes N	,		
Date of First, Resume	rd Production, SWD or	Enhr. Producing Me	ethod	Flowing	g Pumpi	ing Gas L	ift 🗍 Oth	er (Explain)	
Estimated Production Per 24 Hours	Oil	Bbls. Gas	Mcf	Wate			Gas-Oil Ratio		avity
Disposition of Gas	METHOD OF	COMPLETION		· · · · · · · · · · · · · · · · · · ·	Production Inte	rvai			
☐ Vented ☐ Sold		Open Hole	Perf.		Dually Comp.	Commingled			
(If vented, Si	ubmit ACO-18.)	Other (Spe	cify)						

## LARIO OIL & GAS COMPANY



301 SOUTH MARKET STREET WICHITA, KANSAS 67202 (316) 265-5611 FAX: (316) 265-5610

December 12, 2008

Kansas Corporation Commission Oil & Gas Conservation Division 130 S. Market, Room 2078 Wichita, KS 67202

RE: Confidentiality Request for Logs and Drilling Information

Young G #2-34RE

API #095-00111-00-01

NW NW NW Sec. 34-27S-5W

Kingman Co., KS

Gentlemen:

Please find enclosed the following items for the referenced well:

ACO-1; Well Completion Form

Cementing Invoices

Lario requests that all of the information concerning this well be kept confidential for the maximum time allowable by KCC Regulations. If you require any additional information, please feel free to contact me.

Sincerely,

Kathy Ford

**Engineering Tech** 

Encl.

XC: SKD, WF



#### **Pratt**

LARIO OIL & GAS

P. O. BOX 307

KINGMAN

KS

67068

ATTN:

**PAGE** 

1 of 2

CUST NO 1970-LAR004A INVOICE DATE 08/14/2008

INVOICE NUMBER

1970002356

LEASE NAME

Young "G"

WELL NO.

2-34RE OWWO

COUNTY

Kingman

STATE

KS

JOB DESCRIPTION Cement-New Well Casing/Pipe:

**JOB CONTACT** 

JOB#	EQUIPMENT #	PURCHASE		. • •	TERMS	DUE DATE
1970-02361	301	AFETO	8-100	Net 30 DAYS	09/13/2008	
			QTY	U of M	UNIT PRICE	INVOICE AMOUNT
or Service Dat	es: 08/13/2008	to 08/13/2008				
70-02361	00, 10, 2000					
			ļ			
1970-18728	Cement-New Well (	Casing 8/13/08	1.00	Hour	2520.000	2,520.00
Pump Charge-Ho	ourly 4004' 5000'		1.00	rioui	2020.000	2,020.00
Cementing Head	e; 4001'-5000'		1.00	EA	250.000	250.00
Plug Contain	er Utilization					
Charge	or otherwise.					
Cement Float Eq	uipment		1.00	EA	290.000	290.00
5 1/2" Baske					0700 000	2 700 00
Cement Float Eq			1.00	EA	3700.000	3,700.00
Cementing S	hoe Packer					
Type			1.00	EA	400.000	400.00
Cement Float Eq	րություն Plug and Baffle		1.00			
Cement Float Ed	_		6.00	EA	110.000	660.00
Turbolizer	i dipinioni		ł			
Mileage			180.00	DH	1.400	252.00
	l Mixing Service					
Charge		*4.	400.00	DU	7.000	700.00
Mileage _			100.00	DH	7.000	700.00
• • •	ment Mileage		415.00	DH	1.600	664.00
Mileage	d Bulk Dolivon		415.00		1.555	
Charges	d Bulk Delivery					
Pickup			50.00	Hour	4.250	212.50
	Charge(Pickups,					
Vans, or Car			1			250.00
Additives			8.00	EA	44.000	352.00
CC-1, KCI Si	ubstitute		32.00	_ ^	3.700	118.40
Additives			32.00	EA	3.700	110.40
Cello-flake			25.00	FA	4.000	100.00
Additives  De-foamer	KANSAS COR	PORATION COMMISSION	20.00			
Additives			99.00	EA	7.500	742.50
FLA-322	DE	C 1 5 2008				
Additives		0F1/CP	93.00	EA	5.150	478.95
Gas-Blok	KE	CEIVED		l _·.		074.00
Additives			742.00	EA	0.500	371.00
Salt				1		



#### Pratt

LARIO OIL & GAS P. O. BOX 307

KINGMAN

KS

67068

ATTN:

**PAGE** 

2 of 2

**CUST NO** 

1970-LAR004A

INVOICE DATE

08/14/2008

**INVOICE NUMBER** 

1970002356

LEASE NAME

Young "G"

WELL NO.

2-34RE OWWO

COUNTY

Kingman

STATE

KS

JOB DESCRIPTION Cement-New Well Casing/Pipe:

**JOB CONTACT** 

JOB#	EQUIPMENT #	PURCHASE (	ORDER NO.		TERMS	DUE DATE	\
1970-02361	301				Net 30 DAYS	09/13/2008	
			QTY	U of M	UNIT PRICE	INVOICE AMOUNT	_
Additives	L 11		1,000.00	EA	1.530	1,530.00	T
Super Flus Cement			50.00	EA	12.000	600.00	┰┃
60/40 POZ Cement			130.00	EA	17.000	2,210.00	Т
AA2 Ceme Supervisor Service Su	nt pervisor Charge		1.00	Hour	175.000	175.00	
	Expl. File	8 2008/ 1 0M	CAUCAS CORPORAT	5 2008		BS 8-15-08	
			#KECE	IVED			
			<u> </u>	BID DISC	OUNT	-3,755.06	_

PLEASE REMIT TO: BASIC ENERGY SERVICES, LP PO BOX 841903 DALLAS, TX 75284-1903

SEND OTHER CORRESPONDENCE TO: BASIC ENERGY SERVICES, LP PO BOX 10460 MIDLAND, TX 79702

**BID DISCOUNT** SUBTOTAL TAX **INVOICE TOTAL** 

-3,755.06 12,571.29 265.39 12,836.68 BASIC

Subject to Correction

FIELD ORDER

18728

eree	ingy s	ervic	C 3, L.P.	YOUNG 'G		2-34RE 0000	34-27-	.5
Date 4-13-08 Customer ID			County KINOMAN		State KS.	Station PATT		
	OIL + 6	= / c		Depth	Formation	,	Shoe Joint	
H - 1 19/10	UIL Y D	<i></i>		Casing // Ca	sing Depth T	0 4120	Job Type /ルルー!	
R ————————————————————————————————————				Customer Bonzagantati		Tractor	BBY DRAKI	
Ε					- X LIV			DLS
AFE Number	08-100	PO Number		Materials Received by		Danie Z	C. Duna	8/13/08
Station Code	Product Code	QUANTITY	. :	MATERIALS, EQUIPMEN	IT, and SERVICES US	ED	UNIT PRICE	AMOUNT
P	CPIOS	130 sk,	AA2		1		-	221000
ρ	CP103	50sx	60/40/02		,			60000
					,		•	
P	PC102.	3216.	Pezzo-Fir	AKE (POLEFLAK	c -c)			118:10
ρ;	CC105	2510.	DE-FOAD	MCK (PULLOUX)	·			1.0000
- P	CCIII	74210.	SAIT (F.	m=)		·		37/00
$\rho^{\omega}$ :	CCIIS	9316.	GAS-BLO	K			1	478 95
ρ	100129	9916.	FIA-322	2		<u> </u>	<u> </u>	74250
	1		3.36					
PS	r706.	Agel.	10-1. K	11. SUBSMINITE			1	35200
ρ	1(155	1000 acl	SUPIR FL	USH II			-	153000
ρ	CF607	184.	LATTH DOL	UN PLUG + BAFF	1E, 5/2" (BL	ut)	4	40000
ρ	(F1001	184.		SHOE PACKER	•			370000
ρ	CF1651	6 eg.	TURBOILE		·			66000
ρ.	CF 1901	1pai	512" BA	SKET (BLUE).	and the f	· · · · · · · · · · · · · · · · · · ·		29000
<u> </u>	,		Mys. S	2000 A. Asia	4.5	1 to 3 to 5		<u> </u>
P =	1701	100 ml.	HOANY E	QUIPMENT MILE	AGE -			70000
-ρ	1-713	415 tri:	Buck De	7/VERY				66400
_ ρ	FIOO	50 mi.	PICKUP P	MILLAGE				21250
ρ	CF 240	1405K.	BIENDING	A MINING SI	DICE CHAR	c E		25200
-	5003	104.	SERVICE	SUPERVISOR			_	17500
$\rho$ .	(F205	104.	OFPITH CA	HARGE - 4001' -	5000'	//11/0		252000
ρ	CE501)	104.		VTAINEL			TON COMMISSION	25000
	<u> </u>			1		DEC 1:	5 2000	
	14 24		1	man grant gr	. 94.11		4000	
	и,		20	erick en 2.	· · · · · · · · · · · · · · · · · · ·	, LCE	VED	*
			1,'s	rounted	Price			12,571.20
			ļ		·			
					/			
					C70 4004 - E	COO) 670 FOOD		<u> </u>
10244	NE Hiway 61	P.O. Box 86	13 • Pratt, KS	67124-8613 • (620)	6/2-1201 • Fax (	620) 672-5383		ng, Inc www.taylorprinting.us



### TREATMENT REPORT

Customer	io Oil	+ GAS	Na .	Lease No				Çu,	Date						
Lesse'	VOUNG	Villadi ya Maji Ya		Well #	34	Ret ow	ر المراجعة المراجعة المراجعة المراجعة ال		7	<b>S</b> -	13-02	ያ			
Field Order #	# Station		15	er, Île. Grafi		Casing	// <sub>Z</sub> Depth	1 - P.	County		icana	S	tate / <s< td=""></s<>		
Type Job	[NW-L						Formation	)	NA,		Legal De				
PIPE DATA PERFORATING DATA FLUID L							USED.		T	REAT	MENT F	RESUME			
Casing Size	Tubing Siz	ze Shots/F	t		Ad	cid 130 s.K. H	1112	RATE PRESS			S	S ISIP			
Depth 396 3	Depth	From	То		Pro Pad		15/13	Max				5 Min.			
Volume 8	Volume	From	То		Pad			Min			10 Min.				
Max Press	Max Pres	From	To		Fr	ác	÷ृं वं ः	Avg	****	s	15 Min.		general and a service of the service		
Well Connecti	on Annulus V	ol. From	То			rite to	6-120	HHP Use	d			Annulus Pres	sure		
Plug Depth	Packer De	epth From	То		FI	ush <i>(158)</i>	4. 2%KIL	Gas Volu	me		grand.	Total Load			
Customer Re	presentative	RRON		Station	n Ma	nager	011 4		Treate	er /3	EBY	y			
Service Units		19806	17832	5							See No.				
Driver Names	DRAKE	SHANIINE	FRITMA	n		,				,	A SHAPE STORY				
Time	Casing Pressure	Tubing Pressure	Bbis. Pu	mped	•	Rate			e. Se e	Servic	e Log	4. 人名伊克斯			
0700	ing the second of the second o			g (1) A 4			DN LO	CATION .	- 5.41	C 1- 14	MEZT	7116			
1045							Run 8	9 its -	Cont.	3 10,	13.75.1	9	Bspt 1		
1240	,						100 m	· · ·	·	* /	المالية المعلمة المعلقة المعلق				
1245	1200	A.					HOOK UP	TU (50	BRO	KK ·	Pinc.	w/ RIG	- S-+P,5		
1508	300	· ·	24	/ :		5.0	SUPER F			:		· · · · · · · · · · · · · · · · · · ·			
1512	300			(4)	^	510	H20 3	SPACOR							
1513	300		19	2		100	MIX 50	CAUENO	ik (	MT	<i>6</i>	12 0 = / CAL.			
15/5	300		40	)	_/.	6.0	Mix A								
15.35	tigano e de la como de différencia de la como de la com	Seguia (**) Careta de la Careta (**)	and the state of t	an-langua i in. Marananangan		f the little of favour is a second	PETENSE	of corp	- Feb	Ado inf	CUMP	free for the time of the second	in Thermographic of the Section of t		
1538	150	Ċ	t.		[ ].	70	STIRT U	115P w/	20/0k	106		· '& ',			
1546	400	4	· 95	<u> </u>		6.6	LIFT PRO	SSUAC	<u></u>			<u> </u>	.* .*		
1555	1500		95	7		· ·	Plus .	Down	* 25			.n:(- '			
11000			7				PILLE					8-10-	DŶ		
				4.		•	CIRCULA	1THON	THRU	Ja	B	2			
·				***		· September	JOB 10	MAL	<u> </u>	· ·	· · · · · · · · · · · · · · · · · · ·				
	- 45		in the second se		· .	1.5	4.7 1 . 1	المرابع و و سيم و و المابع و و	3144	4.4					
	· 'V'		\$50°				THAN	18 Bac	KANSAS O	. 1	7. 7.				
		1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	100			1			KANSAS (	PPORA	TION COMM	ISSION .			
	,			·		***	# 1		— Di	Α.	5 2008	MOICO			
	. '			- 1											
							-		KE	CE	IVED				
				[			ŀ	:				,			

10244 NE Hiway 61 • P.O. Box 8613 • Pratt, KS 67124-8613 • (620) 672-1201 • Fax (620) 672-5383

Companied of the



